Wpływ gęstości siewu na plonowanie. Ziarno – Ela Radzików.

SKRZELEW 1999

	Nr
	Dł. pletka
	Pow. w m kw.
	Il. rzęd.
	Plon kg
	T/ha wilg.
	Wilg %
	T/ha 15%

	1
	106,25
	635,7
	8
	570
	8,95
	28,4
	7,54

	2
	106,75
	640,5
	8
	640
	10,00
	27,4
	8,54

	3
	107,25
	643,5
	8
	610
	9,49
	27,5
	8,09

	4
	107,75
	646,5
	8
	625
	9,67
	27,8
	8,22

	5
	108,25
	649,5
	8
	560
	8,63
	27,5
	7,36

	6
	108,75
	652,5
	8
	580
	8,90
	27,8
	7,56

	7
	109,25
	655,5
	8
	550
	8,40
	28,3
	7,08

	8
	109,75
	658,5
	8
	590
	8,97
	27,8
	7,62

	9
	110,25
	661,5
	8
	570
	8,62
	28,5
	7,25

	10
	110,75
	664,5
	8
	510
	7,68
	28,4
	6,47

	11
	111,25
	667,5
	8
	580
	8,70
	27,1
	7,46

	12
	111,75
	670,5
	8
	620
	9,25
	26,6
	7,99


Plon w dt:

I  –  gęstość 75 tys./ha – ( 70,82; 73,59; 74,57; 75,37 ) - 73,59 dt

II  – gęstość 85 tys./ha -  ( 72,53; 79,90; 82,17; 85,41 ) – 80,00 dt

III – gęstość 95 tys./ha – ( 64,69; 75,55; 76,16; 80,91 ) – 74,33 dt

Wilgotność w %

I   –  gęstość 75 tys./ha – ( 27,1; 27,5; 28,3; 28,4 ) – 27,8 %

II  – gęstość 85 tys./ha -  ( 26,6; 27,4; 27,8; 28,5 ) – 27,5 %

III – gęstość 95 tys./ha – ( 27,5; 27,8; 28,4; 28,5 ) – 28,1 %

Termin siewu 27-04-1999      Termin zbioru 12-10-1999

